MIIMN Vo6l > U3

Que.1.102—92= (10 + 1)( 10 -1)

=19 x1

=19

HMalCWIU 2]

a) 112 - 102 5H06MYd> ?

b) 102 - 112 61T ?

Ans. 112-10? = (11+10)(11 - 10)

=21x1
=21

102 — 112 = (10 +11)(10- 11)
=21x-1

=-21

Que.2. 92 = (10 + -1)2

= 102 + 2x10x% -1 + (-1)2
=100 -20 +1

=81

MHO)lCWIU 2]

a) 192 96M)H> ?

b) 98296M) B> ?

Ans. 192 = (20 + -1)2

= 202 +2x20x -1 + (-1)?
=361

982 = (100 + -2)2

= 1002 + 2x100% -2 + (-2)2
= 9604

[Marks :(4)]

[Marks :(4)]



Que.3. alS1d A6 (H1WEHSIONS OO0 alS 1 BA1@3 MItMo alSlH,
A6 (B 1WH:S)OS OOMO0o alS1H B@1@3 MIMIo HMED 66I0DS)O10)

()90 B [Marks :(3)]
algld A alSls B

a)-7+21 -14

b) -(-8) 18

C)-2x7 8

d)-3x-6 14

Ans.-7+21=14

_(-8) =8
2x7=-14
-3x-6=18

Qued.x=-2,y=4,z=-3@R)WIDCI IO 6)dHIS}OM 1@ 1£L60(MNIM6S Nilel
& 96N3)al1S 2] MIPMMAL0 )1alQH: ? [Marks :(2)]

Ans. a) xy + xz

b) x (y +2)

Ans. Xy + Xz = -2x4 + -2x-3

=-8+6

=-2

X(y+2) = -2(4+-3)

=-2x1

=-2

Que5.x=0,1, -1 @RHHICMUIVISS x3 -1 aflel HI6MHs ? [Marks :(3)]
Ans. x =0 @QQI0d x3—1=03—1
=-1(1)
Xx=1@)QI00x3—1=13—1
=0(1)

X = -1 @I x3— 1 = (-1)3 -1
=-2(1)

X =0 @RI x3—1=03—-1



=-1
x=1@QWI0dx3—1=13-1
=0

X = -1 @I x3— 1 = (-1)3 -1

=2

Que.6.13,10,7,4,.cccccvrrrrnnnn. ag)M16BB6M MISMOIMM (Mo6UIIG(emM 11 m3

@ SO0 3 MVo6UIHUB af)PION D> ? [Marks :(3)]
Ans.4-3=1

1-3=-2

-2-3=-5

Que.7.a=-2,b =2, ¢ = -3 @RWIMB ab+ac WYEIS 1L BHI6MYH> ? [Marks :(2)]
Ans. ab +ac=a(b+c)

=-2(2+-3)

=-2x-1

=2

Que.8. (W 1al)el16: @186 8> [Marks :(2)]
(x-5)(x-3)

Ans. (x-5)(x-3) = x2 — 5x -3x+15

= x2 -8x+15

Que.9. X =5 9oy = 400 @R@IMI (x+y) , (-x-Y) WIS [Marks :(2)]
aflel &oem)ds ?

Ans.5+4 =9

5-4=-9

Que.10. 213UOSWBS 2l @10 108 396 UM 1WI]LI}o @RS OI0IS) O
MNo6UIB U3 MM NUYMIOMI0o 2 @) BB 1WNITWo 63916010
HH 8688108 (MVo6UI DU nf) P> [Marks :(3)]

2




2 0 -2
0 -2 4
-2 4 -6

Que.11. MBHE1BLISBE) af)OTWIM 6303 AUMRIAME0 MA@EAUV6ENIMWo

v =20-9.8t @Y6M.OMIMG3 v GCAUND®}o t MAXDM®)o (M)allaflenimm)
a) t = 20MHNMO @RYHICMUIVISS AUMRIATMEN BAUWo A ? [Marks :(2)]
b) t = 3OMVHHMO @RYBIEMUIPISS UMM AU Al ?

Ans. V = 20-9.8x2

=20-19.6

=0.4m/s

y = 20-9.8x3

=20-29.4

=-9.4m/s

Que.12. y = x2 +3x +2 af)0M (VAN B 4O | (03 [Marks :(2)]
a) x=-1 @R®IM3 y @S Oilel ag)om ?

b) x=-2 @RQI®3 y @IAOS Nf1el ag)(v) ?

Ans. y = (-1)2 + (3x-1)+2

=1-3+2

=0

y = (-2)2 + (3x-2)+2

=4-6+2

=0

Que.13. B1021)d5 @ 186> [Marks :(2)]
a) (X-1)+(1-x)*+(x-2)+(2-x)

b) (2x+3)+(3x-3)+(5-x)+(X-6)

Ans. X-1+1-x+x-2+2-x =0

2X+3+3X-3+5-x+x-6 = 5x- 1



Que.14. -x -y = - (x+ y) ag)(Mn O Io Ol a] 21JNIOS
6)d5 9SO 10 1H86)M U BEMBHIBNY B> ? [Marks :(2)]

a)-4-3

b) (-4-3)+7

Ans. -4-3 =-7
(-4-3)+7=-7+7=0

Que.15. [Marks :(2)]
L1 xy L L

X+ ¥ = 0 a0 ®ODIo 9ale@ou)a] 5 + —3 men aflel £,96m)e: ?
Ans.

1 1 345

5 4 —3 = 5x-3

_TE

Que.16. -4 x a = 12 @RYWIM3 a WIS Nilele@D) ? [Marks :(2)]
Ans.
A=12+-4

—L

=12 x Q)

=-3(1)

Que.17. ¢ = a+b ag)M @M1 1H86030M) [Marks :(2)]

a)a=-4,b=5@YWI03 c WS Nilel ag)o) ?
b)a=-4,b=-5 @G c @S N1l ag)(D) ?
Ans.a)c=-4+5=1

b)c=-4+5=-9

Que.18.a) x +1,x3-2, x2—2x +180U@1 @3 x = 1 ag)(M A1l M@BH; 1@ IG3 B> 1530M
MMo6UIHUB n@emEld0 ? [Marks :(4)]

b) 0 Mo6U IS (UL (HHDBD (T3 af)PIMH: ?
Ans.a)x+1=1+1=2
x3-2=13-2=-1



X2—-2x+1=12-2+1=0
-1,0,2

Que.19.Z= + af)0m VACUIBIOM @3 x, yo QIS NelH 08 Oalc@aula] 2
mMe0n aflel &oemyds ? [Marks :(2)]

a) x=2,y=0
b) x=3,y=1
c)x=2,y=1

AnNs.

.
I + 1

1
N

[N

I}
[EEN

ta ] =
ta ] =

=

1+

Que.20. xz+yz =(x+y)z af)0M VBYMVANUIB 0 OalC@IN 2] ®MI6Y
6)dH IS O 1@ 18630M (B 1@ BB 6)21Q))H> [Marks :(3)]

a) (-3x5) + (3x5)

b) (-64x50) + (-36x50)

C) (10x99) + (10x-9)

Ans. (-3+3)x5 = 0x5=0
(-64+-36)x50 = -100 x 50 =-5000
(99+-9) x 10 = 900



